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A. retain 
B. resolve 
C. readvertise 
D. install 
 
Correct Answer: B 
 
 
QUESTION 46 
Click the Exhibit button. Referring to the exhibit, you are unable to reach devices in the 
172.19.25.0/28 subnet. What should you do to solve this problem? 
 

 
 
A. Enable the ge-0/0/2 interface. 
B. Enable the ge-0/0/2.2 interface. 
C. Enable the ge-0/0/2.0 interface. 
D. Enable the ge-0/0/2.1 interface. 
 
Correct Answer: C 
 
QUESTION 47 
Which default login class should you select if you want the user to edit configuration files? 
 
A. read-only 
B. unauthorized 
C. super-user 

http://www.ensurepass.com/JN0-104.html
http://www.ensurepass.com/JN0-104.html
http://www.ensurepass.com/JN0-104.html


Download Full Version JN0-104 Exam Dumps(Updated in Feb/2023)

JN0-104 Exam Dumps   JN0-104 PDF Dumps   JN0-104 VCE Dumps   JN0-104 Q&As 

https://www.ensurepass.com/JN0-104.html

D. operator 
 
Correct Answer: C 
 
 
QUESTION 48 
Which statement describes the ulst next-hop type that appears in the output of the show route 
forwarding-table command? 
 
A. A list of unicast or multicast forwarding entries waiting to be resolved. 
B. A list of unicast destination prefixes for which packets will be silently discarded 
C. A list of unicast next hops used for a given destination for which load balancing is enabled 
D. A list of unicast or multicast destination prefixes for which packets will be silently discarded. 
 
Correct Answer: C 
 
 
QUESTION 49 
Which two statements describe firewall filters? (Choose two.) 
 
A. Firewall filters are applied to interfaces. 
B. Firewall filters are applied to security policies 
C. Firewall filters provide stateless security. 
D. Firewall filters provide stateful security. 
 
Correct Answer: AC 
 
 
QUESTION 50 
What information is provided by the show route forwarding-table command? 
 
A. the routing table stored on the RE 
B. the protocol from where the route was learned 
C. the outgoing interface(s) associated with the destination prefixes 
D. the number of routes that are active, hidden, or in a hold-down state 
 
Correct Answer: C 
 
 
QUESTION 51 
What will the request system configuration rescue save command accomplish? 
 
A. It will generate support information for JTAC. 
B. It will save a copy of the configuration so that you can go back to it at any time 
C. It will prevent 2 commit from happening 
D. It will restore your system to factory default settings. 
 
Correct Answer: B 
 
 
QUESTION 52 
Which statement about the forwarding table is correct? 
 
A. It contains all known routes including IPv6- 
B. It is only available on the PFE 
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C. It is only available on the RE 
D. It is available on both the RE and the PFE. 
 
Correct Answer: B 
 
 
QUESTION 53 
Which three benefits are made possible by the separation of the control plane and forwarding 
plane of a Junos device? (Choose three.) 
 
A. nonstop active routing 
B. in-service software upgrades 
C. deep packet inspection 
D. stateful firewall 
E. graceful Routing Engine switchover 
 
Correct Answer: ABE 
 
 
QUESTION 54 
Which statement about the Junos OS forwarding table is correct? 
 
A. The forwarding table consolidates routes from multiple sources. 
B. The forwarding table is populated with active routes from the routing table 
C. The forwarding table is responsible for identifying and selecting active routes. 
D. The forwarding table is only stored on the Routing Engine. 
 
Correct Answer: B 
 
 
QUESTION 55 
Which step is required when performing a Junos software upgrade? 
 
A. You must create a user account named maintenance-user. 
B. You must reboot the device 
C. You must load the factory default configuration 
D. You must zeroize the device. 
 
Correct Answer: B 
 
 
QUESTION 56 
Which statement regarding transit traffic processing is correct? 
 
A. Transit traffic is processed by both the control plane and forwarding plane. 
B. Transit traffic is only processed by the control plane. 
C. Transit traffic is only processed by the forwarding plane 
D. Transit traffic is not processed by the local device. 
 
Correct Answer: C 
 
 
QUESTION 57 
You are asked to configure filter-based forwarding. Which routing-instance type would you use? 
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A. VRF 
B. virtual router 
C. non-forwarding 
D. forwarding 
 
Correct Answer: D 
 
 
QUESTION 58 
Click the Exhibit button. Which operational mode command in Junos OS produces the output 
shown in the exhibit? 
 

 
 
A. show system users 
B. show system connections 
C. show system commit 
D. show system reboot 
 
Correct Answer: C 
 
 
QUESTION 59 
By default, which Junos directory contains the primary syslog file? 
 
A. /var/syslog 
B. /var/home 
C. /var/log 
D. /var/tmp 
 
Correct Answer: C 
 
 
QUESTION 60 
Which two statements about exception traffic processing are correct? (Choose two.) 
 
A. When congestion occurs, only exception traffic is given preference. 
B. By default, a rate-limiter for exception traffic exists on the internal link between the control plane 

and the forwarding plane 
C. When congestion occurs, local and control traffic are given preference. 
D. By default, no rate-limiter for exception traffic exists on the internal link between the control plane 

and the forwarding plane. 
 
Correct Answer: BC 
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QUESTION 61 
Which protocol is responsible for learning an IPv6 neighbor's IMAC address? 
 
A. Neighbor Discovery Protocol (NDP) 
B. Media Access Control Security (MACsec) 
C. Address Resolution Protocol (ARP) 
D. Network Address Translation (NAT) 
 
Correct Answer: A 
 
 
QUESTION 62 
A user entered configuration mode and modified the candidate configuration. In this scenario, 
what are two results? (Choose two.) 
 
A. Other users cannot enter configuration mode. 
B. Other users cannot enter configuration mode using the exclusive parameter 
C. Other users cannot log into the device. 
D. Other users cannot enter configuration mode using the private parameter. 
 
Correct Answer: BD 
 
 
QUESTION 63 
You are asked to determine when a Junos device was booted. Which command would you use to 
obtain this information? 
 
A. show system statistics 
B. show system commit 
C. show system information 
D. show system uptime 
 
Correct Answer: D 
 
 
 
 
 
 
 
QUESTION 64 
Click the Exhibit button. You have applied the policy shown in the exhibit as an import policy to 
your BGP group. In this scenario, what will happen when the router receives the 
192.168.30.48/32 route? 
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